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st trees, to stop the fruit from falling off. This
and allows the fruit to grow bigger.

s dFras trees to speed upﬁpem'ng,soaﬂmeﬁ'uitripenstogeﬂlerandcanbepickedhlm@'

i Unnpe fruit, which is firmer so less easily damaged during picking. During transport the
fruit ripens so it arrives at the shop in a ‘just ripened’ condition.

Fruit, with seeds inside, normally only grow on plants that have been pollinated by insects. If the
plants don’t get pollinated the fruit and seeds don’t grow.

Seedless fruits are produced by spraying unpollinated
flowers with plant hormones, causing the fruits to develop,
but not their seeds.

Some varieties of grapes have naturally seedless but small
fruits. These small fruits are sprayed with gibberellins to

increase their size. 0\.35
Q1.  Study the data below. Eachxﬁi@»m same gfzﬁ‘s t’& same soil type and was treated

with the same zgﬁlg‘@\“e illser. e
pald«

e 5 SO |

“Year Yoo o 1998 1999 2000 | 2001
Barley yield from field A, kg/ha | 35 28 33 37 34
Barley yield from field B, kg / ha | 48 39 44 49 43 |

a) Which field had a selective weed killer applied from 1997 to 2001? Give a reason for your
answer. | ‘

Badey lield B had et killer  pypy o & |
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